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Part III
assooﬂﬂ@urr;ﬁ]uﬂmé) /| COMPUTER SCIENCE

( Vocational Component under General Stream )
( &blp wHpid Syadler aufl / Tamil & English Versions )

Cmyb : 3 wewh | | Qurgs wduGueEnaer : 150
Time Allowed : 3 Hours | [ Maximum Marks : 150
Sflyey  :  swarig alemssesd sflurs udourd o eengr adTugemen &flunit e s

sreaiereyd. SFsludals @aopdipilles, swmp e s sslliuraflio
2 Lequred Qgflalébsan.
Instruction :  Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
@l : 1) ugd Ia s der S@endg ( Ldeums alaIrdaer ) alaTréds@rseh
(1 gpaev 76 euenyy ) Sl  eupislL Heter OMR el ggrefle
oCLBCn oI wefsds Gawo@bd. ( O.M.R. ol gareilsy 2 efen
Y& even HIToIs. )
ii) elleordarefes euewgubs Cue cpaneudles SrUUL Perer 'wmm’ | dash )
GOiH ehy aanafsmada 2 arCar SEHCsbu O.M.R. ala. &

profie [=m] (1) siey (== =] (2) suag (== =]

DN G [- - - -I (4) egyb sitd HB Quendleors
Blpeil o Geuetor Hib.

iil) efleorr ercsorme 1 g 75 eueny 2 aier allemasante el wellés
gadauuL Cryb wpad 75 Al ksl G,

iv) ugd M whHnbd ugd I & 2 er aflameaandd ( 76 e 110 e )
wssTew alel e allomLweflss Goemn@on.

Note : i) Candidates should answer all the questions in PART - I [ Objective
type ) ( 1 to 75 ) in the separate OMR Answer Sheet supplied. ( Refer
instructions given in the OMR Answer Sheet )

ii) The number of the sign ‘'ssm’ ( dash ) as found in the right-hand top

corner of the Question Paper ( i.e., El (1) or E' {2) or
E (3) or [ ) should be shaded in the

OMR Answer Sheet using HB Pencil.

iii) Time allotted for answering question numbers 1 to 75 is first
75 minutes.

iv) Parts — II and III questions ( 76 to 110 ) should be answered in the
main answer-book.
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u@d — I / PART - 1

Has sflurear aloaows Caib0sdsas GOHIUIGs

Choose the correct answer : 75%x1=75
1. &g uew uweturRaeeaend Glameoi g CEr@LUTED 2

A)  evLmireydofau Guen B) et gysoen

C) eumirgyoalie engLlm D) oLy dolien aiméed.

Which consists of several applications ?
A) StarOffice Base B)  StarOffice
C) StarOffice Writer D)  StarOffice Calec.
2. ol Qar_sepdibe neiss vwau@h srall Garwreib
A)  Shift + Home B) Home + Enter
C) Cirl+B D) Ctrl + Home,
The shortcut key used to move to the beginning of a document is
A)  Shift + Home B) Home + Enter
C) Ctrl+B D) Ctrl + Home.
3.  ahs Qurgsrar Ceme@n Yeatlaeg cuag LsasHa 2 dier absibame IfléGh
A) backspace B)  delete
C) space bar D) enter.
Which key is used to delete the characters to the right of the insertion point ?
A) backspace B) delete
C) space bar D) enter.
4. eomirgyden soqliiflé, ergest apeuid erpddlen Sena| JenHHLLOEDSG ?
A)  yeieflsel B) Spugeld
C) eoul@ser D)  =erey.
In StarOffice Writer the size of the font is measured in
A) points B) inches

C) bytes D) size,
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5. adlér b ETTEYD, TpHGIhseeT sflurféeh Hiyeud 2. ererg 2
A) e gy ev sres B) euwmigyien evplo i
C) e gyien G)bliyen D)  ev iy ien Guen.
Which includes a dictionary and a spellcheck proram ?
A)  StarOffice Calc B)  StarOffice Writer
C) StarOffice Impress D)  StarOffice Base.

6. ev nieglife @iuliL aanaismadiona aflams, O Geuflens semme:  2_aien

F L AGmen aeiaury SepsslGomd 2
A)  Sppeny B) Gamiy
C) erevemeus el D) &L cuenemn.

Which of the following is a grid with a specified number of columns and rows in
StarOffice Writer ?

A)  Cell B) File
C) Border 'D] Table.

7. erLawmandd dppopsget oy sromsGa wgubGury) Hppeoy S@HEsDHL
g wrHlai@n 2

A)  SHenrs B) 2_WITDIT &
C) wglurs D) ecuemen.
[n a table, when the text is wrapped in a cell, it grows
A) wider B) taller
C) wrap D) border.
8. uasiddar Cua gridlear Qarm Bleney Byeney eTeTe ?
A)  1-25 IjEEGeud B) 1 oa@ebd
C) 1-50 smgevd D) 120 si@eubd.
What is the default top margin of a page ?
A) 125 inches B) 1inch

C) 1-50 inches D) 1:20 inches.
[ #i®lyes ( Turn over
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10,

11.

12,

Hlev Lwgnsien Gfliyasenen usssdlar Cue @rédae & @rsdan sGHAUSHS
2 BLIEDICY ?

A) Header b footer B)  Top whminp bottom
C) Tile wppid reference D)  Heading whpib page number.

Which are some references and remarks added at every page of the document of

the top and bottom margins rcspu:cti\'fely ?

A) Header and footer B)  Top and bottom

C) Title and reference D) Heading and page number.
Slesreumeventaubmiel erg i Lsuemennd Glawed 2

A)  evemigyfav Cuen B)  euLmigyien &meué

C) evLmirgyfen erdevla e D) ey gl
Which one of the following is a spreadsheet ?

A) StarOffice Base B)  StarOffice Calc

C) StarOffice Excel D)  StarOffice Writer.

a8 sl Leen Byard Qeudupd &eilliure @) eTSHEUILILL. (6001 6001 EN & 6 d

QeremL suameusnblemul CUITETDSTED ?

A)  seluGumr B) olflaras

C) &L euaesé Gawsl D)  s7e| ser.

A grid of cells with a programmable calculator at-tached to each cell is
A) Computer B)  Visicale

C) Spreadsheet D)  Datasheet.
euLmit sThsdle ag e sails Guadl Gaame 2

A) % B) %

C) & D) <>

Which operator is not an arithmetic operator ( in StarCalc ) ?
A) % B) ¥

C) & D) <
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13.

14.

15.

16.

s sreudsle Uleraumasmaibnet g wae Sppepaows @féeh 7

A) 1A B) 1

C) A D) Al

Which refers to the first cell in a spreadsheet in StarCale ?

A) 1A B) 1

C) A D) Al

O Paufloes e spapos wrpHluanbés surt srasdle ebs LY LLETURD 2
A)  Edit B) File

C) Insert D)}  Format.

In StarCalc, which menu is used to change the column width ?

A)  Edit B) File

C) Insert D)  Format.
SfL-Leumepameiier graymaner ereflgmal Lyflbhe Careier LLeTURUEDEL eTa 7
A)  eusmiyULID B)  eurdiur®

C) enfyse D) Gumrgesi.

Which is used to make data easier to understand ?

A) Chart B) Formula

C) Functions D)  Object.

dereupd ahs Guéd eumt srasda @6 2ojiugdema gomrs @omamnss

2 gaydleima) 7
A) + B) &
c i D) =

In StarOffice Cale, which one of the following operator combines two text ?

A+ B) &

) SR D)

L}

[ lplys / Turn over
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17.

18.

19.

20.

DBMS aatugiar allflounsan

A) Database Managing System B) Database Management System
C) Database Manipulation System D)  Database Mailing System.
DBMS is an acronym for

A) Database Managing System B)  Database Management System
C) Database Manipulation System D) Database Mailing System.

§C7 oo QuiGan srap semsdld gon ooy GOINEe Gopul
o LaemanlSiphs syamoer  gaiy Csiégh  Cewpurle asbeurp
260 p& G 2

A) Qefissen B) GsLév
C)  eauflems D) eugslLe

The process of joining data from two or more tables of the same or different

database is called

A) merging B) searching

C) rows D)  filtering.

shepsGariy srapseside a@sa6em @

A)  evumi Cuev Qawed B)  suLmigyen Glawel

C) oL Leuemaonsd Glawed D) g&eud Qewel

Which of the following is an example for a flat file database ?

A) StarBase sheet B)  StarOffice sheet

C) Spréadshcet D)  Information sheet.
sraBser S Lamanider n udloma sallpsaowur® ellseb HpaGare
Al  ssrow Spa@are B) @b flevew glpaGamre
C) udley peyGare D) oL Lsumen SpeGare.
The key that uniquely identifies a record in a database is

A) primary key B) secondary key

C} record key D)  table key.
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21, 3L eusoamile uTTée allBbLbd gaeudbsmean i Hb Herdle &T Heaug
A) QgL B) eugslLe
C) Qarsse D) eaflemsupsaize.
Which is a way of limiting the information that appears on screen ?
A)  Searching B)  Filtering
C) Merging D)  Sorting.

22. ahs Gerd geae sap eodm GQurhet QarwuL datum edan Qeraelelmba

CuhSBSI 7
A)  yeud B)  ereto
C)  aney D) ugla).

Which term comes from the word ‘datum’ ?
A) Field B) Number
) Data D) Record.

23. Qar@ésuullL. sraeErd® @oLlu Blaab 2z paeu Qeusfllu@dad s7eaeef e
QErElemL elcleurny 2empHalGomd 7

A)  wmd B)  &&6ue
C) oL suensoon D) Gamiy.
Which is a group of related data conveying some meaning ?
A) Variable B)  Information
C) Table D)  File.

24, eviLrirgy e Cuelldy, grassansdler amasst asgaer 1
A) 3 B) 4
€] B D) 6
How many types of databases are there in StarOffice Base ?
A) Three B) Four

C) Five - D) Six.

[ &imuys / Turn over
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25. @hE HUEY s (P aeusHemerCu SeodlHGD 7
A) char B)  decimal
C) integer D) float.
Which datatype accepts only whole numbers ?
A) char B)  decimal
C) integer D) float.

26. ag 2 e, sudruLd, Rl S sapser oy adu safllCuTh sapelu pEm apie

(LPEOPUTGLD 7
A)  MMS B} g@meey
C) ueerL&b D) QagreooessTl dl.

Which is a computer based presentation technique that incorporates text,

graphics, sound and video elements ?
A) MMS B) Animation
C) Multimedia D) TV.
27. OQeaGudl weib Cridamer Sguliuab Cupad LudsTuRD ClwearluTbeT ag 7
A)  MMS B) SMS
C) WMS D) CMS.

Which is an application that allows you to send and receive messages over cell

phones ?
A)  MMS B) SMS
C) WMS D) CMS.

28. dlphuLiener SpouL Heopdleli LweTuBeug
A)  ev@asert euedyLL PO B) GnpHlw eumyuLapen
C) adeflwi euemruL PP D) eorendd euayuLpenD.
Which graphics help in rendering the image effectively on the screen ?
A)  Scalar graphics B)  Vector graphics

C) Linear graphics D) Dynamic graphics.
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29. g Y@sUUL ksl é meWT@haghe ghnsdhe 7
A} GIF B) JPG
C)  NxView D) BMP.
Which is not well fitted for photographic works ?
A)  GIF B} JPG
C)  NxView D) BMP.

30. pmd Col @b el adsmsw 2 Easmblienuds Qe 7
A) QgL opmen B) 2 dswdlin
C) e aen D) s isd.
The sound that we hear are of which wave patterns ?
A)  Analog B)  Amplitude
C) Frequency D)  Wave pitch.

31. Qleupye eibs Gevawiy dflags srldllldimhs Caiay Gows Soeeea wapss

250D ?
A)  Slide show - Hide / Show slide B) Slide show — Show / Hide slide
C) Slide — Hide slide D)  Slide — Hide,

The command used to hide a selected slide is
A) Slide show — Hide / Show slide B) Slide show —= Show / Hide slide
C) Slide - Hide slide D) Slide — Hide.

32. Oeeumb ehs view eder Sogseamenyd &fiu sugeler Gy Lsepda uniss

2 geb ?
A) Normal B) Notes
C) Slide sorter D) Outline,

Which allows to view miniature images of all slides in a page ?
A)  Normal B) Notes

C) Slide sorter D)  Outline,

[ Sl®uys / Turn over
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33. Ueeupeaeibnel 618 G Sag @by FHogmeflar ganaiy aug ooy
e d, euadslLib, Neraed] augeamuiy Sifluaben wigey Olebdng 2

A) e USHSID B) aianin 2 e
C) (seenn Sleuey) D) pseTeoD Qugeab.

Which determines the text formatting style for title, outline and the background
design for single or all slides ?

A) Master page B)  Master text

C) Master slide D) Master format.
34. H® Hooe Hspsase Cereuils Geishs abe sLLemen LLOTTEGD ?

A) Insert — Slide B) Slide — New slide

C) Insert — New slide D) Insert — Object.

To insert a slide in a presentation, choose

A) Insert — Slide B) Slide — New slide

C) Insert — New slide D) Insert — Object.

35. Oetaumd ahs erelow SwHd 8y Crrsdle Q&DHS Guihul L Hevgusarers

Boirey Glainuerd 7
A)  Citrl B) Alt
C) Shift D) Tab.
Which key is used to select multiple slides ?
A) Ctrl B) Alt
C) Shift D) Tab
36. Yareumd ag Qurmpet Crrée Hlyerss Guomfl 7
A) C++ B) C
C) Basic D) FORTRAN.
Which amongst the following is an object oriented programming language ?
A) Ci+ B) C
C) Basic D) FORTRAN.
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37.

38.

39.

40.

Bresefies  syayser LHODL CEwhsapser QD Baiipgt QuTGBSTHeTTS
PHAGDOES b Hyeled uueTLRED S 7

A)  int B) class
C) string D) object.

Which data type allows programs to organize as objects that contain both data

and functions ?

A) int B) class

C) string D)  object.

C++ Quomfl wrymés 2 @BeurdsiucL g ?

A) Ggﬁ}d‘u &meneds B) QGgier ol Glerevigu
C) e Glabef D) gmosv G ev.

C++ was developed by

A) James Gosling B) Bjarne Stroutstrup
C) John Kemeny D) Thomas Kurtz.
Sl @eriasl L EOWTHHONES ereiarp S P& eLILG S aTmeT 2
A)  wrdleet B) Qesub@desr

C) alamesmen D) @ﬂ@umﬂ‘mﬁ.

The basic types are collectively called as

A) wvariables B) operators

C) tokens D) identifiers.

wrflaelr ereieurn SevpssiuGpeTpe 7

A)  wrdledsel B)  @OuQuuiser

C) Smiy Qerhaef D)  ercoIgel.

What is the other name for variable ?

A) Constant B) Identifier

C) Keywords D) Numbers.

[ Hi®iius / Turn over
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41. shs (peikom @ Gl GUE suflarslés eumd 2
A) A B) *
C) + D)
What is the prefix character that used to repfesent escape sequence ?
A) A\ B) %
C) + D)y /
42. a=5,b=8e@prd a+b/2 % 4; @ wgl eeren 2
Al 20 B) 36
C) 21 D) 24,
Ifa=>5andb = 8, what is the value of expressiona + b/2 % 4: 7
A) 20 B) 36
c) 21 D) 24,
43.  C++ Qumpila aggoma aumaurar Gallly Gammse 2 eerer 2
A) 3 B) 4
0 D} 2
How many storage specifiers are there in C++ ?
A) 3 B) 4
Cy 5 D) 2
44, C++ & Qereumd ovg GeueflGune Gendliy L& 1
A)  do-while B)  while
C) for D) if.
In C++, which is called as exit check loop ?
A} do-while B) while
C) for D) if.
45.  gre wily e STy Qupd Qewubed &g ?
A) s> B) <<
c) > D) <«
Which operator is the extraction or get from operator 7
Al >> B) <<

C) > D) <
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46.

47.

48,

49.

a5 sammy, C++ Qumller Hemen Nflliys sabm 7

A) df B)  switch
C) for D}  while.
The multiple branching statement in C++ is

A) if B)  switch
C) for D)  while.

wperefludy  wdlysst Qewupsamy e agalle Qeugimpyl ulgwelld anGes
@ 0Gun GeuetsrBid 7

A) @onéurs B) Qg &ssdld

C) mEalsé D)  ehs uGHied.
The default values can be included in the function prototype from
A) ending B)  beginning

C) middle D) anywhere.

@eubmiet  ohs Qeupsay, BlyeGuuitddr Gurg, Oewdsadld &L e sl
PpewLD S PULS sappibel ufers SliugGu Hiyelld Qe@aiuu’ GalGD 1

A) Static B) Insert

C) Inline D)  Return.

Which looks like a normal function in the source file but inserts the functions
code directly into the calling program ?

A) Static B) Insert
C) Inline D)  Return.
SphaavLaipfles, a e wrlder cuamrblucane e ¢
if(x<y)
{
int a;
a++;
;
A) 2 efenemn cusnyGludienen B) Gewdann auyudae
C) Gariy cusrGudeme D) @ersew euemyoludiemen.
In the following code, the scope of the variable a is
if(x<y)
{
int a:
at++;
i
A) local scope B) function scope
C) file scope D) class scope.

| #iliyes / Turn over
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50. eps euejGuama GaraL wriiddr amrudme obhs Blydar ey
allfldlma 7
A) 2 etenem euenyolweamen B) Gariy sueryouwéemen
C) Qewdsap sueyCwdheney D) Q&;urj)@g& cuaTOIWeen 6.
What is the scope of a variable used in enlire program called ?
A) Local scope B) File scope
() Function scope D)  Operator scope.

51. &Gy srallargenssé Gaing wrlasiar S @ adug
A) B)  wrhled
C)  sessilael D) syey.

What is a collection of variables of the same datatype that are referred by a
common name ?

A)  Variable B) Constant
C) Array D) Data.
52, cin >> number(4); Gdé el ahe 2 pULHE wHOou QunAng ?
A) mreETHTELE B) sphsmeugl
C) psersug D) apeoiDreug.
cin >> number(4]; which element is read ?
A)  Fourth B)  Fifth
C) First D)  Third,
53. Sn&GsTaeusmen ahs Ufioren semiiaenms cueyunées igub ?
A) o uflores e B) @ ufwrems el
C) apebrny uflorem el D) mreng uflores oes.
Matrices can be represented through
A) single dimensional array B) 2-D array
C) 3-D array D) 4-D array.
54. &g C++ GurPllilss Hle apsdluwmer Letossan 2
A) (W eredor B) lgemeu cuens
C) @erseu D) sjefaef.
The most important feature of C++ is
A)  integer B) float
C)} class D) arrays.
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55.

56.

57.

58.

59.

Tl @lenégapellast HT6y 2 pIIUSHSHEET GTEUMITD SnHeuTd 7

A)  anflepeons e B)
C) OswnHdamsen D)
In a class data members arc also called as

A)  methods B)
C)} functions D)

GMeaTmI(H

LIE00TL|&h B T EH 6T .

instance

attributes.

Nedreupeucoicupmial Gletb@ el ogudludiie Gowrse g 7

A)  Private 3)
C) Protected D)

Public

Pointer.

Which of the following is not a valid class access specifier ?

Public
Pointer.

. {yefrefl )
i ( Seoysitsl] ).

. (dot )

A) Private B)

C) Protected D)

@ebeuala SPlaliy ugd Jdraieh apamd ool Qupding 7
A) ,(swr) B)

C)  :( @poysiefl ) D)

Class declaration is terminated by

A) ([ comma ) B)

C) :(colon) D)

@\t peliest 2_mliLe el

A)  syey 2 pliuser, 2 pudlar Guuwr

B) §)U€H.®&u.nj)a¢u, eowiiyg QawhHem)

C) e 2QuyseT, 2 puys Qeuphen

D)  sye Guwt, 2 miiny G)erb.

Class comprises of

A) data members, member name B)

C) data members, member functions D)

; [ semi-colon ).

data functions, system functions

data name, member type.

Ct++ 61 WpLQUBE srallerieane Q@aG W ahs sralanor@d ?

A)  uwent euemupiue STadleTd B)
C) srEalesiulLemel syalerd D)
Class belongs to which datatype in C++ ?

A) User-defined datatype B)
C) Derived datatype D)
for

2 _efreflememibsene sraleiin

et euena .

Built-in datatype
Array.

[ Elpliys / Turn over
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60. C++ Quomflfles uGisymeuTHed erget pab HaonGauppuu@dna 2

A)  wyyflob B) 2 ep@uirdlunsin
C) ueliblgiy D) SmauwnTésib.

In C++ polymorphism is achieved through

A) inheritance B)  encapsulation

C) overloading D)  abstraction.

61. uvenh B@se wyurs Cewbed eg 7

A) + ( binary ) B) -(unary)
C) * D) =

Identify the operator that cannot be overloaded ?

A) + ( binary) B) —(unary)
C) D}y

62. g6 Osubeflegt uydlu OQurgee aphgd Cewudplub ey
S p&aliu@ang 7

A)  Qewheh uasiiblgiy B) Qeupanp uesiiblgliy
C)  wyyflob D) Qumger.

The mechanism of giving special meaning to an operator is called

A) operaior overloading B)  function overloading
C) inheritance D)  object.

63. 64 Qeupenpy Naraupd ape Quueys Qom g mheeh 7

A)  euegQuévenaullest GlLiweny B) @erseuw Cuuflaean
C) OGeubhonp Guufenean D) eramm Quuilee.
The constructor function name has the same name as that of
A) scope B) class
C) function D) instance.
64. @it Gerdgup Qurmefler LuETUI® WEaHE abbCLITE GludsliLBes
A) ol B) 58
C) uefligiy D) epPaiiy.
Which is executed when a class goes out of scope ?
A) Destructor B)  Constructor
C) Overloading D) Declaration.
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65. ST HeHeE QOaNs HH eeeuTD e phHelu@dldTpe ?

A) ey 58 B) sireawe| 58l

C) B y&d D) uefigiy el

The constructor without parameters is called as

A) parameterized constructor B)  default constructor

C) copy constructor D) overloading constructor.

66. eraumesicubyet g ualblgliy S&HéE QuUImbad ?

A)  Qeuwph@d B) euflgpen
C) Qewhampy D) @e&aEw.
Which overloading can be applied to constructor ?
A) Operator B) Procedure
C) Function D) Class.
67. smHelbsiULL @e@Eew, Sgluo @ussuweldnhs asmar  wyyflowurs
Qupépg 7
A)  uesEIY&ef B) Quuwf
C)  oeney D) cumpbueene.

Derived class inherits what from its base class 7

A) Properties B) Name

C) Size D)  Scope.
68, @aafudure &remLblene LUTHG & ?

A) public B) private

C) protected D) protect.

The default visibility mode is

A)  public B)  private
C) protected D) protect.
69. wyyflud Gupp Gersewssedsr eauflmsdlé GuesiuBag ?
A sfiod B) o&dl
C) QHGW D) Gummer,
Which amongst the following is executed in the order of inheritance ?
A) Destructor B) Constructor
C) Class D) Object.
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70.  aps weopdle Geanuidar afiCu sdal Qun apgun 2
A)  eumdl Geemeu B) et sean§Glaevay
C) Beénamd) Coeneu D) dleapmen.

Which enables online educational programs leading to degrees and
certifications ?

A) Banking B) e-Shopping
C)] e-Banking D)  e-Learning.

71. Oereumd epg dpuy srpargsle Cudlame, SiGusdlaer oiiuy Gu 2 ayoigalen
HU.FWOTS WTHDSTD ?

A) sl B) dleéreygradh
C)  yéLmdeQumesr D) Osrevennmégeub.
A facility that allows the user to speak into a special device is called
A) computer B) e-mail
C) dictaphone D) tele-medicine.
72. Upegadseiles 2 6en soaudsmer sailiOurfl oswuratauspCehp Seaemi
Lrhpedg ?
A)  srey B)  geuemd
C) syeurdsd D) OQgroe wiHdaeb.
Which refers to the conversion of non-digital material to digital form ?
A) Data B) Document
C) Digitization D)  Tele-medicine,
73.  sau@urd vueturRaefes 85% saaisn w&seT LUGTURS gL ?
A)  Blapsase B) Qeréd Qewarssd
C)  apaypend D) ey euemest Glewed,
85% of computer usage is
A) Presentation B}  Word processing
C) Database D)  Spreadsheet.
74. ‘uTGSTULY Yol 2 L HHE' TG
A)  syay UTG&TUY B) asaluGurd @bob
C) sLa§ Qere D) amawsd Goaoal.
‘Cracking’ comes under
A) data security B) computer crime
C) password D)  website service,
75. Uedouaev.g whpd guadué Coomeana ahs Oflymellsas Gupwerals euenisd
Qubhpyeieng 7
A)  Call centers B) ITES
C) Public telecom D) Medical transcription.
BFSI and pension services are high growth areas of
A) Call centers B) ITES
C)  Public telecom D) Medical transcription.
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u@$! — I / PART.— II
gGapamb Guug alairsaenig aflp aflada alaLwef :
Answer any (wenly questions in one or two sentences each : 20 x 2 = 40
76, uveGoun cuemaurar usdl @lensaEet wremel ?
What are the various types of paragraph alignments that can be made ?
7. Quusuamswral LSS LG T ? CIGTLTH@® UHs e ereer ?

What are the two types of page orientation ? Which one is default page

orientation ?
78. Gadlé sonsd D eedimre eredient 7
What is date arithmetic ? Explain,

79, sliamens  grele  dbpersdlar  Qpfaudlmslar  seeses e

DT HOEUT 7

How will you change the column width of a cell in a worksheet ?
80. upye euflemswnésb eredrpmré eremen 2

Define multiple sorting.
8l. prabsenbdle (e 2 DIiyEmET THEIS.

List and define the three components that make up a database.
82. Quuflones emeey uL hisaer uDD TwWes.

Write in brief about 2-D animations.
83. MIDI aflflurésn sha allanégs.

Expand MIDI and write a note on it.
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84. flepsggeiles Masterpage &1 Liwebt ereiren ?
What is the use of masterpage in presentation ?
85. gsdleoes Cuyb eadipre ereten ?
What is meant by "Rehearse Timings" ?
86. C++ 6 QuUIrmsi suemyuenm - alanses.
Define object in C++.
87. C++ o Hunseeans Gewped ubd aupais.
Write a note on conditional operator in Q++.
88. &lPuE euflene edpré aratar 2 @B HSHM. B alerdEs.
What is escape sequence ? Give examples.
89. &rey DUy Svevs sTey smD Qeubeddear Lwumear a@HEGHTL DT aleTées.
What is the use of insertion or put to operator ? Give example,
90. wdlud@ss @bl Lrame ? TRHHHHTLH SHS.
What is an assignment operator ? Give example.
91. SPsaaRIL sahbE BGbHS if sabm opss.

Marks 90 &g Gué @wéeb Gurg Grade g A0 GhHsayd. Gleveme eeie
Grade sp B-év @Q\m&sab.

Write an appropriate 'if structure’ for the following :
Set grade to A if marks is above 90 otherwise set grade to B.
92. Ci+ 6 Qewpenpelle LLETHeneT o1& s.

List the advantages of functions in C++.

for nore visit http://school.tnpscquesti onpapers. con
WWW. t npscquesti onpapers. com



http://school.tnpscquesti onpapers. con

93. Gewphsag wpereugaiictt Quirgaure Qem sl aapd) o RHESHHTC O Bubs.
Write the gencral syntax of a function prototype with an example.

94. dpsaeon. Hlyeder GeuefS( ercen 2
What would be the output of the following program ?
#include <iostream.h>

void main( )

char ch[ | = {"END\6"}:
cout << ch;
}
95. C++ev gyewllsaflen cuansaer ubf GOy aaais.
Write in brief about types of arrays in C++.
96. EETEGU suMTUNIbSle LGH G erdet 2
What are the parts of a class specification ?
97. wnyyfingdlen uestaaner mﬁ]m&ﬂu@{bgm.
List the advantages of inheritance.
98. &smHdlue ElardE(y aTETDTE et ?
Define abstract class.
99. @ puysal awhise -6 LW et ?
What is the use of call centres ?
100. ‘sye) Gueareianod' alenmum).
Define data management.
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u@égl — Il / PART - III

Aesieugn allombaeile gCsamb gu alomésanse paauradbed mbdlesmbs
use afleens@sn ol wefl :

Answer any seven of the following questions in five to ten sentences each :
7x5 =35

101. ugd) 2 eogurd QUL ppesd 2 arenu 2 eGHeTEHD (Wennew allerées.
Explain the method to indent the text using paragraph dialog box.

102, suL eyl i gy’ susnaoiiler euflens, QnRaflenssmenen ecueurny Geriumil wHryb

aeiauT hh@auril 7
Explain how to add and delete rows, columns in a StarWriter table.

103. Hetr o Lauemeosr Qawed) eredimrey eredtes 7 SjeUbledT HeTEMDS N6 6 (LFIG.
Define electronic spreadsheet. List the advantages of electronic spreadsheet.

104. ‘srniyse’  aemre el 2 eubheon Lol Hrefley  ereueumm

vweaTuRSHeaTl 7 6 Gohaber G aleurl.

What are functions ? How to insert function in worksheet ? Explain with an

example.
105. gyeysen cuenssHal wremey 7 alleurfl.
Explain various types of databases.
106. if sapemmuyb, if-else sapepyd a@SHGHTL. G She alerdhes.
Explain if and if-else with suitable example.
107. Qewhenm UetBl@iy erediprés sredent 7 Seubdlen el wpevmaeT wWreney ?
Define function overloading. List out the rules for function overloading.
108. wdliiy epeud PS5’ (pDmL 5G&HS THEHHSHT R allanébgs.

Explain call-by-value method with suitable example.
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109, Slereumd C++ Biyedlés o_erer Nempaemen Hpssl awge :
Debug the follo‘wing C++ program :

#include<stdio.h>
class number

{

int 1i;

void set()

void display()
{

cout>>i;

}

void-operator()
{

i==i;

i

void main()

{

number obj;
obj.set();
-0bj;
obj.display();
getch();

}
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110. &peumb C++ Blyedlen Gleuelll g e erapgys :
Write the output for the following C++ program :

#include<iostream.h>
#include<conio.h>
class add

int nl,n2,s;
public:
add()

cout<<"\nConstructor with parameters";
nl=nz=s=0:

}

add(int sl,int s2)

{

cout<<"\nParameterized constructor";
nl=sl;

n2=s2;

¥

add(add&a)

{

cout<<"\nCopy constructor";
nl=a.nl;

nz=a.n2;

void assign()

{
nl=3;
n2==2;

}

void addition(add b)
{

s=b.nl+b.n2;

}

void put()

cout<<"\nThe numbers are.."<<nl<<'\t'<<n2:
cout<<"\nSum, ."<<s;

}

¥

void main()

clrscr();

add a,b (15,20);
a.assign();
a.addition(a);
b.addition(b);
cout<<"\nObject a..";
a.put();
cout<<"\nObject b..";
b.put();

getch();

}

for nore visit http://school.tnpscquesti onpapers. con
WWW. t npscquesti onpapers. com



